OLUKOYI GRACE
16/ENG02/045
COMPUTER ENGINEERING
MID SEMESTER TEST QUESTION 4C

It was saved on excel as question 4c2 and it was moved to the folder where all my matlab files are stored
Code on matlab:
commandwindow
clear
clc
grace =xlsread('question4c2')
T = grace(:,1)
x1 = grace(:,2)
x0 = grace(:,5)
x2 = grace(:,3)
x3 = grace(:,4)
x = [x0,x1,x2,x3]
good = regress(T,x)
a0 = good(1)
a1 = good(2)
a2 = good(3)
a3 = good(4)
Tsim = a0 + a1*x1 + a2*x2 + a3*x3
r = corr(T,Tsim)
rsquare = r^2

Output:
grace=

          0.5          4.5           84         74.8            1
          0.4          3.9           82           34            1
          0.3          3.3           74         32.8            1
          0.4          5.2           81           64            1
          0.5          6.1           76         48.9            1
          0.7          3.2           74         43.1            1


T =

          0.5
          0.4
          0.3
          0.4
          0.5
          0.7


x1 =

          4.5
          3.9
          3.3
          5.2
          6.1
          3.2


x0 =

     1
     1
     1
     1
     1
     1


x2 =

    84
    82
    74
    81
    76
    74


x3 =

         74.8
           34
         32.8
           64
         48.9
         43.1


x =

            1          4.5           84         74.8
            1          3.9           82           34
            1          3.3           74         32.8
            1          5.2           81           64
            1          6.1           76         48.9
            1          3.2           74         43.1


good =

       1.6236
    -0.028662
    -0.016386
    0.0051308


a0 =

       1.6236


a1 =

    -0.028662


a2 =

    -0.016386


a3 =

    0.0051308


Tsim =

      0.50202
      0.34265
      0.48478
       0.4757
      0.45436
      0.54049


r =

      0.49252


rsquare =

[bookmark: _GoBack]      0.24258


